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EELHFEEN 3,800 A 4,082 A 7,882 A
BREEHX 2,355 A 2,539 A 4,894 A
MER LEREEH 1,099 A 1,100 A 2,199 A
HERREER 1,246 A 1,435 AN 2,681 A
THEEEREEN 10 A 4 A 14 A
EEEHN 1,445 A 1,543 A 2,988 A
BER 61.97 % 62.20 % 62.09 %
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X5 E & B
EELHEEEHR PN 10 A 17 A
BEEEN 0 A 0 A 0 A
AER ZEHEBREEN 0 A 0 A 0 A
HAAREER 0 A 0 A 0 A
FHEEREEN 0 A 0 A 0 A
ENREHREEN 0 A 0 A 0 A
MEEREEH 0 A 0 A 0 A
ZIEEN PN 10 A 17 A
RER 0.00 % 0.00 % 0.00 %
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X5 E & B
EELHEESEHR 3,807 A 4,092 A 7,899 A
BREEX 2,355 A 2,539 A 4,894 A
EIEEN 1,452 N 1,553 A 3,005 A
REXR 61.86 % 62.05 % 61.96 %
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